N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

=
o
w
(Y

TrackingParticles
TrackingParticles

Recons@cted TPs
o

=
o

=
o

10E

1
5 5 : 5 F ] RIIRT e
| | 04 : : e ; ] ||| ||
1 || 1 7 B it 5 =11 ¢ ||||| 1100 o
0.95 ! i ! 0.95 i TlE ] 0.95L A ! 1 A A
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)

N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |

|2 %] 12

o <@ o

= o =

3 5 3

5 a10’ 5

£107 2 210

(2] < 0

c Q c

8 g 8

9] L, o}

o 10 @

N
o

=

o

10

1k 1
[ Kot . . gt ¥
- g I 11 8 [ (T .
[ : i i i : x : : : |||||||| : : x fr : : ; i ; ; ;
. T i : mny E AR N . |||||||| ] T I D T T
0.95L L i i K L 0.05L L L L L i L L 0.95L L 1 HAW AN L H H
-30 -20 -10 0 10 20 30 -20 -15-10 -5 0 5 10 15 20 -20 -15-10 -5 0 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


